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ELK TOP LIVING 117

Ansichten

ELK TOP LIVING 117

Dachformen

Satteldach 42°Kst. 1,20 m
Satteldach 25° Kst. 2,00 m
Walmdach 25°
Flachdach 3%
Nettogrundflache

ErdgeschoR 59,40 m>
ObergescholR 58,14 m>
Summe 117,54 m?
Bebaute Flache 73,00 m?



E L K TO P |_|\/| N G l 17 Erdgeschol - Satteldach 42°/Satteldach 25°/Walmdach 25°/Flachdach 3% Maldstab: 1:50
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E L K TO P |_|\/| N G l 17 Erdgeschol - Satteldach 42°/Satteldach 25°/Walmdach 25°/Flachdach 3% - Variante KG-Treppe Maldstab: 1:50
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E L K TO P |_|\/| N G l 17 Obergeschol} - Satteldach 42° Mal3stab: 1:50
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E I_ K TO P I_I\/I I\I G l 17 Obergeschol} - Satteldach 25° Mal3stab: 1:50
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ELK TOP |_|\/| NG 117 Obergeschold - Walmdach 25° Mal3stab: 1:50
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E LK TO P |_|\/| N G l 17 Obergeschol’ - Flachdach 3% Mal3stab: 1:50
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